



The Euler-like Sums Involving Harmonic Numbers Obtained from Integral Transformations

Xuefeng Zhou

Department of Mathematics and Three Gorges Mathematics Research Center, China Three Gorges University, Yichang 443005, Hubei, China.

How to cite this paper: Xuefeng Zhou. (2024) The Euler-like Sums Involving Harmonic Numbers Obtained from Integral Transformations. *Journal of Applied Mathematics and Computation*, 8(3), 218-226. DOI: 10.26855/jamc.2024.09.004

Received: July 31, 2024
Accepted: August 30, 2024
Published: September 30, 2024

***Corresponding author:** Xuefeng Zhou, Department of Mathematics and Three Gorges Mathematics Research Center, China Three Gorges University, Yichang 443005, Hubei, China.

Abstract

In this note, we employ two identities from symbolic calculations and combine several known series expansions for specific special functions. By utilizing these tools, we can generate numerous Euler-like sums that connect harmonic numbers, pi and zeta values, etc. These results are aesthetically pleasing and widely used in Euler-like sums fields. The main step is to calculate some new Euler-like sums of the harmonic number by integration transformations. The definite integrals of some elementary functions are first calculated by symbol software Mathematica. On the other hand, we can write these elementary functions in the form of Maclaurin series and then integrate them term by term and finally get the series containing harmonic numbers. In the process, we need to deal with the series, integrals, differentiating, and other operations skillfully. We can continue to use the integral transform in this paper to expand, or we can find another new integral transform to get more valuable results by using similar methods.

Keywords

Harmonic numbers; Euler-like sums; Integral transformations

Introduction

Campbell and Sofo have investigate many identities of Euler-like sums involving harmonic numbers and they obtained a lots of beautiful results. These results play very important roles in integral calculations and related fields. In this note, we study Euler-like sums containing binomial coefficients and harmonic numbers, which like

$$\sum_{n=0}^{\infty} \frac{H_{2n}' C_n^2}{16^n} = \frac{24 + 16 \ln 2 - 16G}{\pi} + 8 \ln 2 - 12, \quad \sum_{n=0}^{\infty} \frac{H_{2n}}{(4n^2 - 1)^2} = \frac{7\zeta(3)}{16} - \frac{\ln 2}{2}.$$

where

$$H_n^{(r)} := 1 + \frac{1}{2^r} + \frac{1}{3^r} + \dots + \frac{1}{n^r}, h_n^{(r)} := 1 + \frac{1}{3^r} + \frac{1}{5^r} + \dots + \frac{1}{(2n-1)^r},$$

$$H_n^r := \left(\sum_{k=1}^n \frac{1}{k} \right)^r, H_n^{(r)} := 1 - \frac{1}{2^r} + \frac{1}{3^r} - \frac{1}{4^r} + \dots + \frac{(-1)^{n+1}}{n^r}.$$

$$G = \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{(2n-1)^2} \approx 0.91597.$$

By introducing an integral transformation [1],

$$\int_0^1 x^n \arcsin(x) \ln(x) dx = \frac{-\sqrt{\pi}(2\Gamma(\frac{n}{2}+1)((-1)^n(n+1)(H_{\lfloor (n+1)/2 \rfloor} - H_{n+1} + \ln 2) - 1) + \sqrt{\pi}(n+1)\Gamma(\frac{n+1}{2}))}{2(n+1)^3\Gamma(\frac{n+1}{2})},$$

Campbell and Sofo obtained a series of identities of the Euler-like sums with the alternating harmonic numbers. It is wondering that whether some Euler-like sums can be obtained by this method. In this paper, by introducing two integral transformations

$$\int_0^1 x^n (1-x^2)^{\frac{1}{2}} \log(1-x^2) dx, \int_0^1 x^n (1+x^2) \log(1-x^2) dx,$$

we get a series of new Euler-like sums identity.

1. Some Lemmas

Lemma 1 [3].

$$(\arcsin x)^p = \sum_{n=0}^{\infty} x^{2n+p} \left[\prod_{k=1}^{p-1} \left\{ \sum_{n_k=0}^{n_{k-1}} \frac{\binom{2n_{k-1}-2n_k}{n_{k-1}-n_k}}{2^{2n_{k-1}-2n_k} (2n_{k-1}-2n_k+1)} \right\} \frac{\binom{2n_{p-1}}{n_{p-1}}}{2^{2n_{p-1}} (2n_{p-1}+1)} \right].$$

Lemma 2.

$$\int_0^1 x^n (1-x^2)^{\frac{1}{2}} \log(1-x^2) dx = \frac{-\sqrt{\pi}\Gamma(\frac{n+1}{2})(-2+H_{\frac{n}{2}+1}+2\log 2)}{4\Gamma(\frac{n}{2}+2)}.$$

Proof. By Mathematica.

Lemma 3 [2].

$$\int_0^1 \frac{x^n \log(1-x^2)}{\sqrt{1-x^2}} dx = -\frac{n\pi\Gamma(n)(H_{\frac{n}{2}}+2\log 2)}{2^{n+1}\Gamma^2(\frac{n}{2}+1)}.$$

Lemma 3.

$$\int_0^1 x^n (1+x^2) \log(1-x^2) dx = \frac{(n+2)(n+3)H_{\frac{n+1}{2}}}{(n+3)^2} = -\frac{2}{(n+3)^2} - \frac{2(n+2)H_{\frac{n+1}{2}}}{(n+1)(n+3)}.$$

Proof. By Mathematica.

2. Euler-like sums from $\int_0^1 f(x)(1-x^2)^{\frac{1}{2}} \log(1-x^2) dx$

Theorem 1.1.

$$\sum_{n=1}^{\infty} \frac{H_{n+\frac{1}{2}}}{(2n-1)^2(2n+1)} = -1 + \frac{\pi^2}{16} + \frac{\log 2}{2} + \frac{7\zeta(3)}{16}. \tag{1}$$

Proof. It can be seen from Lemma 1 that $\arcsin x = \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{2^{2n}} \frac{x^{2n+1}}{2n+1}$, let $f(x) = \arcsin x$, we obtain that from Lemma 2,

$$\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) \arcsin x dx = \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{2^{2n} (2n+1)} \cdot \frac{-\sqrt{\pi} \Gamma(n+1) (-2 + H_{\frac{n+3}{2}} + 2 \log 2)}{4 \Gamma(n + \frac{5}{2})}$$

$$= \sum_{n=0}^{\infty} \frac{2 - 2 \log 2}{(2n+1)^2 (2n+3)} - \sum_{n=0}^{\infty} \frac{H_{\frac{n+3}{2}}}{(2n+1)^2 (2n+3)}.$$

Since $\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) \arcsin x dx = \frac{1}{2} + \frac{\pi^2}{16} - \frac{\pi^2 \log 2}{8} - \frac{7\zeta(3)}{16}$ and

$$\sum_{n=0}^{\infty} \frac{2 - 2 \log 2}{(2n+1)^2 (2n+3)} = -\frac{1}{2} + \frac{\log 2}{2} + \frac{\pi^2}{8} - \frac{\pi^2 \log 2}{8}, \text{ we get (1).}$$

Theorem 1.2.

$$\sum_{n=1}^{\infty} \frac{H_n}{n^2 (n+1)} = -\frac{\pi^2}{6} + 2\zeta(3). \tag{2}$$

Proof. From Lemma 1, $(\arcsin x)^2 = \sum_{n=0}^{\infty} \frac{2^{2n} x^{2n+2}}{(n+1)(2n+1) \binom{2n}{n}}$, let $f(x) = (\arcsin x)^2$ and by Lemma 2,

$$\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) (\arcsin x)^2 dx = \sum_{n=0}^{\infty} \frac{2^{2n}}{(n+1)(2n+1) \binom{2n}{n}} \cdot \frac{-\sqrt{\pi} \Gamma(n + \frac{3}{2}) (-2 + H_{n+2} + 2 \log 2)}{4 \Gamma(n+3)}$$

$$= \sum_{n=0}^{\infty} \frac{\pi - \pi \log 2}{4(n+1)^2 (n+2)} - \sum_{n=0}^{\infty} \frac{\pi H_{n+2}}{8(n+1)^2 (n+2)}.$$

Since $\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) (\arcsin x)^2 dx = \frac{\pi^3}{48} - \frac{\pi^3 \log 2}{24} + \frac{\pi}{8} + \frac{\pi \log 2}{4} - \frac{\pi \zeta(3)}{4}$

and $\sum_{n=0}^{\infty} \frac{\pi - \pi \log 2}{4(n+1)^2 (n+2)} = -\frac{\pi}{4} + \frac{\pi \log 2}{4} + \frac{\pi^3}{24} - \frac{\pi^3 \log 2}{24}.$

so $\sum_{n=0}^{\infty} \frac{H_{n+2}}{(n+1)^2 (n+2)} = -3 + \frac{\pi^2}{6} + 2\zeta(3).$

Since $\sum_{n=0}^{\infty} \frac{H_{n+2}}{(n+1)^2 (n+2)} = \sum_{n=1}^{\infty} \frac{H_n}{n^2 (n+1)} + \sum_{n=1}^{\infty} \frac{1}{n^2 (n+1)^2}$ and $\sum_{n=1}^{\infty} \frac{1}{n^2 (n+1)^2} = -3 + \frac{\pi^2}{6},$ so we get the equation (2).

Theorem 1.3.

$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n}^2 H_n}{16^n (2n-1)^2 (n+1)} = \frac{80}{9\pi} - \frac{128 \log 2}{9\pi} + \frac{4}{9}. \tag{3}$$

Proof. Integrating $\arcsin x$: $\sqrt{1-x^2} + x \arcsin x - 1 = \sum_{n=0}^{\infty} \frac{\binom{2n}{n} x^{2n+2}}{2^{2n} (2n+1)(2n+2)}$ (4)

one has $\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) (\sqrt{1-x^2} + x \arcsin x - 1) dx = -\frac{44}{27} + \frac{16 \log 2}{9} - \frac{\pi}{4} + \frac{\pi \log 2}{2}$.

By Lemma 2,

$$\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) (\sqrt{1-x^2} + x \arcsin x - 1) dx = \sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2 \pi (1-\log 2)}{8 \times 16^n (n+1)^2 (n+2)} - \sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2 \pi H_{n+2}}{16^{n+1} (n+1)^2 (n+2)}, \text{ where}$$

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2 \pi (1-\log 2)}{8 \times 16^n (n+1)^2 (n+2)} = \frac{16}{9} - \frac{16 \log 2}{9} - \frac{\pi}{2} + \frac{\pi \log 2}{2}.$$

$$\text{So } \sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2 H_{n+2}}{16^{n+1} (n+1)^2 (n+2)} = \frac{92}{27\pi} - \frac{32 \log 2}{9\pi} - \frac{1}{4}.$$

$$\text{Since } \sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2 H_{n+2}}{16^{n+1} (n+1)^2 (n+2)} = \sum_{n=1}^{\infty} \frac{\binom{2n}{n}^2 H_{n+1}}{4 \times 16^n (2n-1)^2 (n+1)} = \sum_{n=1}^{\infty} \frac{\binom{2n}{n}^2 H_n}{4 \times 16^n (2n-1)^2 (n+1)} + \sum_{n=1}^{\infty} \frac{\binom{2n}{n}^2}{4 \times 16^n (2n-1)^2 (n+1)^2}$$

where $\sum_{n=1}^{\infty} \frac{\binom{2n}{n}^2}{4 \times 16^n (2n-1)^2 (n+1)^2} = \frac{32}{27\pi} - \frac{13}{36}$, we get the equation (3).

Theorem 1.4.

$$\sum_{n=1}^{\infty} \frac{H_{n+\frac{1}{2}}}{(n-1)^2 (2n+1)^2 (2n+3)} = -\frac{95}{192} + \frac{5 \log 2}{12} + \frac{13\pi^2}{256} - \frac{3\pi^2 \log 2}{16} - \frac{21\zeta(3)}{128}. \quad (5)$$

Proof. Integrating the formula (4):

$$-x + \frac{3}{4} x \sqrt{1-x^2} + \frac{\arcsin x}{4} + \frac{1}{2} x^2 \arcsin x = \sum_{n=0}^{\infty} \frac{\binom{2n}{n} x^{2n+3}}{2^{2n} (2n+1)(2n+2)(2n+3)}.$$

Let $f(x) = -x + \frac{3}{4} x \sqrt{1-x^2} + \frac{\arcsin x}{4} + \frac{1}{2} x^2 \arcsin x$, then

$$\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) \left(-x + \frac{3}{4} x \sqrt{1-x^2} + \frac{\arcsin x}{4} + \frac{1}{2} x^2 \arcsin x\right) dx = \frac{173}{576} + \frac{5\pi^2}{256} - \frac{9\pi^2 \log 2}{64} - \frac{21\zeta(3)}{128} \text{ from Lemma 2,}$$

$$\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2) \left(-x + \frac{3}{4} x \sqrt{1-x^2} + \frac{\arcsin x}{4} + \frac{1}{2} x^2 \arcsin x\right) dx = \sum_{n=0}^{\infty} \frac{2-2 \log 2}{(2n+1)^2 (2n+3)^2 (2n+5)}$$

$$- \sum_{n=0}^{\infty} \frac{H_{n+\frac{5}{2}}}{(2n+1)^2 (2n+3)^2 (2n+5)}.$$

$$\text{Where } \sum_{n=0}^{\infty} \frac{2-2 \log 2}{(2n+1)^2 (2n+3)^2 (2n+5)} = -\frac{5}{12} + \frac{5 \log 2}{12} + \frac{3\pi^2}{64} - \frac{3\pi^2 \log 2}{64}.$$

So
$$\sum_{n=0}^{\infty} \frac{H_{n+\frac{5}{2}}}{(2n+1)^2(2n+3)^2(2n+5)} = -\frac{413}{576} + \frac{5 \log 2}{12} + \frac{7\pi^2}{256} - \frac{3\pi^2 \log 2}{16} - \frac{21\zeta(3)}{128}.$$

Since
$$\sum_{n=0}^{\infty} \frac{H_{n+\frac{5}{2}}}{(2n+1)^2(2n+3)^2(2n+5)} = \sum_{n=1}^{\infty} \frac{H_{n+\frac{1}{2}}}{(2n-1)^2(2n+1)^2(2n+3)} + \sum_{n=1}^{\infty} \frac{2}{(2n-1)^2(2n+1)^2(2n+3)^2},$$

where
$$\sum_{n=1}^{\infty} \frac{2}{(2n-1)^2(2n+1)^2(2n+3)^2} = -\frac{128}{576} + \frac{3\pi^2}{128},$$
 so we get the formula (5).

Theorem 1.5.

$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} H_n}{2^{2n} n(n+1)} = \frac{\pi^2}{3} - 4 \log 2. \tag{6}$$

Proof. Let $f(x) = \log(1-x^2) = \sum_{n=1}^{\infty} (-1) \frac{x^{2n}}{n}$, then $\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2)^2 dx = -\frac{\pi}{2} + \frac{\pi^3}{12} - \pi \log 2 + \pi(\log 2)^2.$

From Lemma 2,
$$\int_0^1 (1-x^2)^{\frac{1}{2}} \log(1-x^2)^2 dx = \sum_{n=1}^{\infty} \frac{\binom{2n}{n} \pi H_{n+1}}{4 \cdot 2^{2n} n(n+1)} - \sum_{n=1}^{\infty} \frac{\binom{2n}{n} \pi(2-2 \log 2)}{4 \cdot 2^{2n} n(n+1)}.$$

Where
$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} \pi(2-2 \log 2)}{4 \cdot 2^{2n} n(n+1)} = -\frac{\pi}{2} + \frac{3\pi \log 2}{2} - \pi(\log 2)^2,$$
 so
$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} H_{n+1}}{2^{2n} n(n+1)} = -4 + \frac{\pi^2}{3} + 2 \log 2.$$

Since
$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} H_{n+1}}{2^{2n} n(n+1)} = \sum_{n=1}^{\infty} \frac{\binom{2n}{n} H_n}{2^{2n} n(n+1)} + \sum_{n=1}^{\infty} \frac{\binom{2n}{n}}{2^{2n} n(n+1)^2},$$
 where
$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n}}{2^{2n} n(n+1)^2} = -4 + 6 \log 2,$$
 we get equation (6).

Similarly, let $f(x)$ be $(\arcsin x)^3, (\arcsin x)^4, (\arcsin x)^5, (\arcsin x)^6, (\arcsin x)^7, (\arcsin x)^8$ respectively, it can

be seen from Lemma 1,
$$(\arcsin x)^3 = 3 \sum_{n=1}^{\infty} \frac{\binom{2n}{n} h_n^{(2)} x^{2n+1}}{2^{2n-1} (2n+1)}, \quad (\arcsin x)^4 = \frac{3}{4} \sum_{n=1}^{\infty} \frac{H_n^{(2)} (2x)^{2n+2}}{(n+1)(2n+1) \binom{2n}{n}},$$

$$(\arcsin x)^5 = 5! \sum_{n=2}^{\infty} \frac{\binom{2n}{n} h_2(n) x^{2n+1}}{2^{2n} (2n+1)}, \quad (\arcsin x)^6 = 6! \sum_{n=2}^{\infty} \frac{2^{2n} \mathcal{H}_2(n)}{(2n+1) \binom{2n}{n}} \frac{x^{2n+2}}{2n+2}, \quad (\arcsin x)^7 = 7! \sum_{n=3}^{\infty} \frac{\binom{2n}{n} h_3(n) x^{2n+1}}{2^{2n} (2n+1)},$$

$$(\arcsin x)^8 = 8! \sum_{n=3}^{\infty} \frac{2^{2n} \mathcal{H}_3(n)}{(2n+1) \binom{2n}{n}} \frac{x^{2n+2}}{2n+2}, \quad \text{where } h_p(n) = \sum_{n \geq n_1 > \dots > n_p > 0} \frac{1}{(2n_1-1)^2 \dots (2n_p-1)^2},$$

$\mathcal{H}_p(n) = \frac{1}{2^{2p}} \sum_{n \geq n_1 > \dots > n_p > 0} \frac{1}{n_1^2 \dots n_p^2}$ [3]. We can draw the following corollaries.

Corollary 1.6

$$\sum_{n=1}^{\infty} \frac{h_n^{(2)} (h_n - 1)}{(2n+1)^2 (2n+3)} = \frac{1}{8} - \frac{\pi^4}{1536} + \frac{\pi^4 \log 2}{768} - \frac{\pi^2}{128} - \frac{\pi^2 \log 2}{64} + \frac{\pi^4 \zeta(3)}{64} - \frac{7\zeta(3)}{128} - \frac{31\zeta(5)}{512}, \tag{7}$$

$$\sum_{n=1}^{\infty} \frac{H_n^{(2)}(H_{n+2}-2+2\log 2)}{(n+1)(n+2)^2} = -\frac{\pi^4}{120} + \frac{\pi^4 \log 2}{60} - \frac{\pi^2}{6} - \frac{\pi^2 \log 2}{3} + \frac{\pi^2 \zeta(3)}{3} + 3 + 2\log 2 - 2\zeta(3) - 2\zeta(5), \quad (8)$$

$$\sum_{n=2}^{\infty} \frac{h_2(n)(h_n-1)}{(2n+1)^2(2n+3)} = -\frac{\pi^6}{184320} + \frac{\pi^6 \log 2}{92160} - \frac{\pi^4}{6144} + \frac{\pi^4 \log 2}{3072} + \frac{\pi^4 \zeta(3)}{3072} + \frac{3\pi^2}{512} + \frac{\pi^2 \log 2}{256} - \frac{\pi^2 \zeta(3)}{256} - \frac{\pi^2 \zeta(5)}{256} - \frac{3}{64} + \frac{7\zeta(3)}{512} + \frac{31\zeta(5)}{2048} + \frac{127\zeta(7)}{8192}, \quad (9)$$

$$\sum_{n=2}^{\infty} \frac{\mathcal{H}_2(n)(H_{n+2}-2+2\log 2)}{(n+1)^2(n+2)} = -\frac{\pi^6}{80640} + \frac{\pi^6 \log 2}{40320} - \frac{\pi^4}{1920} - \frac{\pi^4 \log 2}{960} + \frac{\pi^4 \zeta(3)}{960} + \frac{\pi^2}{32} + \frac{\pi^2 \log 2}{48} - \frac{\pi^2 \zeta(3)}{48} - \frac{\pi^2 \zeta(5)}{48} - \frac{5}{16} - \frac{\log 2}{8} + \frac{\zeta(3)}{8} + \frac{\zeta(5)}{8} + \frac{\zeta(7)}{8}, \quad (10)$$

$$\sum_{n=3}^{\infty} \frac{h_3(n)(h_n-1)}{(2n+1)^2(2n+3)} = -\frac{\pi^8}{41287680} + \frac{\pi^8 \log 2}{20643840} - \frac{\pi^6}{737280} - \frac{\pi^6 \log 2}{368640} + \frac{\pi^6 \zeta(3)}{368640} + \frac{\pi^4}{8192} + \frac{\pi^4 \log 2}{12288} - \frac{\pi^4 \zeta(3)}{12288} - \frac{\pi^4 \zeta(5)}{12288} - \frac{5\pi^2}{2048} - \frac{\pi^2 \log 2}{1024} + \frac{\pi^2 \zeta(3)}{1024} + \frac{\pi^2 \zeta(5)}{1024} + \frac{\pi^2 \zeta(7)}{1024} + \frac{1}{64} - \frac{7\zeta(3)}{2048} - \frac{31\zeta(5)}{8192} - \frac{127\zeta(7)}{32768} - \frac{511\zeta(9)}{131072}, \quad (11)$$

$$\sum_{n=3}^{\infty} \frac{\mathcal{H}_3(n)(H_{n+2}-2+2\log 2)}{(n+1)^2(n+2)} = -\frac{\pi^8}{233224320} + \frac{\pi^8 \log 2}{11612160} - \frac{\pi^6}{322560} - \frac{\pi^6 \log 2}{161280} + \frac{\pi^6 \zeta(3)}{161280} + \frac{\pi^4}{2560} + \frac{\pi^4 \log 2}{3840} - \frac{\pi^4 \zeta(3)}{3840} - \frac{\pi^4 \zeta(5)}{3840} - \frac{5\pi^2}{384} - \frac{\pi^2 \log 2}{192} + \frac{\pi^2 \zeta(3)}{192} + \frac{\pi^2 \zeta(5)}{192} + \frac{\pi^2 \zeta(7)}{192} + \frac{7}{64} + \frac{\log 2}{32} - \frac{\zeta(3)}{32} - \frac{\zeta(5)}{32} - \frac{\zeta(7)}{32} - \frac{\zeta(9)}{32}. \quad (12)$$

3. Euler-like sums from $\int_0^1 f(x) \frac{\log(1-x^2)}{\sqrt{1-x^2}} dx$

Theorem 2.1.

$$\sum_{n=1}^{\infty} \frac{H_{n+\frac{1}{2}}}{(2n+1)^2} = \frac{7\zeta(3)}{8}. \quad (13)$$

Proof. Let $f(x) = \arcsin x$, then $\int_0^1 \frac{\log(1-x^2) \arcsin x}{\sqrt{1-x^2}} dx = -\frac{\pi^2 \log 2}{4} - \frac{7\zeta(3)}{8}$.

From Lemma 3 $\int_0^1 \frac{\log(1-x^2) \arcsin x}{\sqrt{1-x^2}} dx = -\sum_{n=1}^{\infty} \frac{H_{n+\frac{1}{2}}}{(2n+1)^2} - \sum_{n=1}^{\infty} \frac{2 \log 2}{(2n+1)^2}$, where $\sum_{n=1}^{\infty} \frac{2 \log 2}{(2n+1)^2} = \frac{\pi^2 \log 2}{4}$,

we get the formula (13).

Theorem 2.2.

$$\sum_{n=1}^{\infty} \frac{H_n}{n^2} = 2\zeta(3). \quad (14)$$

Proof. Let $f(x) = (\arcsin x)^2$, then $\int_0^1 \frac{\log(1-x^2)(\arcsin x)^2}{\sqrt{1-x^2}} dx = -\frac{\pi^3 \log 2}{12} - \frac{\pi \zeta(3)}{2}$.

From Lemma 3, $\int_0^1 \frac{\log(1-x^2)(\arcsin x)^2}{\sqrt{1-x^2}} dx = -\sum_{n=0}^{\infty} \frac{\pi H_{n+1}}{4(n+1)^2} - \sum_{n=0}^{\infty} \frac{2\pi \log 2}{4(n+1)^2}$, where $\sum_{n=0}^{\infty} \frac{2\pi \log 2}{4(n+1)^2} = \frac{\pi^3 \log 2}{12}$, we get the formula (14).

Theorem 2.3.

$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} H_n}{2^{2n} n} = \frac{\pi^2}{3} + 2(\log 2)^2. \tag{15}$$

Proof. Let $f(x) = \log(1-x^2)$, then $\int_0^1 \frac{\log(1-x^2)^2}{\sqrt{1-x^2}} dx = \frac{\pi^3}{6} + 2\pi(\log 2)^2$. By Lemma 3,

$$\int_0^1 \frac{\log(1-x^2)^2}{\sqrt{1-x^2}} dx = \sum_{n=1}^{\infty} \frac{\binom{2n}{n} \pi H_n}{2^{2n+1} n} + \sum_{n=1}^{\infty} \frac{2 \binom{2n}{n} \pi \log 2}{2^{2n+1} n}, \text{ where } \sum_{n=1}^{\infty} \frac{2 \binom{2n}{n} \pi \log 2}{2^{2n+1} n} = \pi(\log 2)^2, \text{ so we get the formula (15).}$$

We can obtain the following theorems in the same way.

Theorem 2.4.

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2 H_n}{16^n (n+1)} = 4 - \frac{16 \log 2}{\pi}. \tag{16}$$

Theorem 2.5.

$$\sum_{n=0}^{\infty} \frac{(-1)^n \binom{2n}{n} H_n}{2^{2n} (n+1)} = -4 \log 2 - 4\sqrt{2} \log 2 - 4\sqrt{2} \log(2-\sqrt{2}) - 4 \log(\sqrt{2}-1). \tag{17}$$

4. Euler-like sums from $\int_0^1 f(x)(1+x^2) \log(1-x^2) dx$

Theorem 3.1.

$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} (2n+1) H_n}{2^{2n} (n+1)(2n-1)^2} = -\frac{44}{9} + \frac{16G}{3} + \frac{4\pi}{3} - \frac{4\pi \log 2}{3} - \frac{4 \log 2}{9}.$$

Proof. Let $f(x) = \arcsin x$, the theorem can be proven.

Theorem 3.2.

$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} (2n+3) H_n}{2^{2n} (n+1)(n+2)(2n+1)(2n-1)^2} = -\frac{5911}{675} + \frac{24G}{5} + \frac{8\pi}{15} - \frac{6\pi \log 2}{5} - \frac{12 \log 2}{5}.$$

Proof. Let $f(x) = -x + \frac{3}{4}x\sqrt{1-x^2} + \frac{\arcsin x}{4} + \frac{1}{2}x^2 \arcsin x$, the theorem can be proven.

In the same way, we can prove the following theorems.

Theorem 3.3.

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n} H_n}{2^{2n} n(n+1)} = \frac{\pi^2}{2} - 4 \log 2.$$

Theorem 3.4.

$$\sum_{n=1}^{\infty} \frac{(-1)^n (2n+1) H_n}{n(n+1)(2n-1)} = -\frac{8G}{3} - \frac{4\pi}{3} + \frac{\pi^2}{12} + \frac{8 \log 2}{3} - \frac{\log^2 2}{3} + \frac{4\pi \log 2}{3}.$$

Theorem 3.5.

$$\sum_{n=0}^{\infty} \frac{(-1)^n H_n}{n(n+1)} = \log^2 2 + \frac{\pi^2}{12}.$$

Theorem 3.6.

$$\sum_{n=1}^{\infty} \frac{(n+1) H_{n+\frac{1}{2}}}{n(2n+1)(2n+3)} = \frac{22}{9} - \frac{5\pi^2}{72} - \frac{25 \log 2}{9} - \frac{4 \log^2 2}{3}.$$

Theorem 3.7.

$$\sum_{n=1}^{\infty} \frac{(2n+1) H_n}{n^2(n+1)} = 2\zeta(3) + \frac{\pi^2}{6}.$$

Theorem 3.8.

$$\sum_{n=1}^{\infty} \frac{H_{n-\frac{1}{2}}}{(2n-1)(2n+1)} = \frac{\pi^2}{8} - \log 2.$$

Theorem 3.9.

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n} (n+1) H_{n+\frac{1}{2}}}{2^{2n} (2n+1)(2n+3)} = \frac{\pi}{8} + \frac{\pi \log 2}{4}.$$

5. Conclusion

In this note, using integral transformations, we established connections between the harmonic numbers and some special functions. Our methods is writing these elementary functions in the form of Maclaurin series and using integration of them to connect the harmonic numbers. Our methods can produce a series of new identities involving special constants and the harmonic numbers.

Acknowledgments

The author thanks the reviewers for their interest in our research direction and thank the reviewers and readers for their valuable comments on this paper.

References

- [1] Campbell, John M., and Anthony Sofo. An integral transform related to series involving alternating harmonic numbers. *Integral Transforms and Special Functions*, 28.7 (2017): 547-559.
- [2] Campbell JM. Ramanujan-like series for π 1 involving harmonic numbers, and related integration results. HAL: 01364815v1; 2016.
- [3] Nimbran, Amrik Singh, Paul Levrie, and Anthony Sofo. Harmonic-binomial Euler-like sums via expansions of $(\arcsin x)^p$. *Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas*, 116 (2022): 1-23.

- [4] Chen H. Interesting series associated with central binomial coefficients, Catalan numbers and harmonic numbers. *J Integer Seq.*, 2016; 19: Article 16.1.5.
- [5] Sofo A. Derivatives of Catalan related sums. *J Inequal Pure Appl Math.*, 2009; 10(3): Article 69.
- [6] Janous W. Around Apéry's constant. *J Inequal Pure Appl Math.*, 2006; 7(1): Article 35.
- [7] Sofo A. New families of alternating harmonic number sums. *Tbilisi Math J.*, 2015; 8(2):195-209.
- [8] Flajolet, Philippe, and Bruno Salvy. Euler sums and contour integral representations. *Experimental Mathematics*, 7.1 (1998): 15-35.
- [9] Sofo, Anthony. Evaluating log-tangent integrals via Euler sums. *Mathematical Modelling and Analysis*, 27.1 (2022): 1-18.
- [10] Adamchik, Victor. On Stirling numbers and Euler sums. *Journal of Computational and Applied Mathematics*, 79.1 (1997): 119-130.
- [11] Guo, Dongwei. Some combinatorial identities concerning harmonic numbers and binomial coefficients. *Discret. Math. Lett* 8 (2022): 41-48.
- [12] Sofo, Anthony, and Amrik Singh Nimbran. Euler sums and integral connections. *Mathematics*, 7.9 (2019): 833.
- [13] Sebah, Pascal, and Xavier Gourdon. Introduction to the gamma function. *American Journal of Scientific Research*, (2002): 2-18.